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NEW QUESTION 1
Your customer’s business outcome is to drive employee efficiencies. Which key metrics measure this outcome?

A. increase in new subscribers or increase in end users
B. number of incidents reported or number of compliance issues
C. reduction in headcount or operational support costs
D. customer and employee feedback
E. number of activities completed or increase in direct time

Answer: E

NEW QUESTION 2
Which outcome is the best that a Customer Success Manager can achieve for a customer?

A. adoption of all the licenses and features the customer purchased leading to expansion to improve the customer’s business
B. full adoption of all the technologies the customer purchased
C. removing barriers so the customer achieves the fastest time to value possible from the solution theypurchased
D. ensuring the customers deployment teams and end users are trained and ready to adopt the technology

Answer: C

NEW QUESTION 3
Throughout the customer lifecycle, opportunities can occur that lead to customers becoming advocates for the Customer Success Manager’s company. Which two
opportunities can lead to advocacy? (Choose two.)

A. moments of success when the customer acknowledges progress
B. successful contract renewal
C. green health scores over intermittent time periods
D. continuing results based on unexpected value
E. results that are not measurable

Answer: AB

NEW QUESTION 4
The customer wants to reduce their exposure to security events. Which business outcome is critical to the company’s success?

A. risk management
B. market growth
C. sustainability
D. cost efficiency

Answer: A

NEW QUESTION 5
Which two actions should the Customer Success Manager take throughout the quarter to support their customer? (Choose two.)

A. No action is necessary as long as the health index is green
B. Observe the online image of the customer
C. Review and update the success plan for ongoing activities
D. Manage the service issues and escalations
E. Join the sales and marketing strategy meetings

Answer: CD

NEW QUESTION 6
Which two outcomes are expansion opportunities within customer success? (Choose two.)

A. expansion of solution features
B. renewal of solution subscription
C. purchase of a new solution
D. deployment of solution
E. expansion of solution services

Answer: AD

NEW QUESTION 7
Which statement describes an end user adoption barrier?

A. There are insufficient licenses for additional staff from a newly acquired company to use the solution.
B. The CIO insists on conducting training for all heads of department before deploying the new Collaboration solution.
C. The budget is insufficient to implement the solution for a new branch of the business.
D. Staff refuses to change their habits and continues to use a noncompliant social media application to conduct business communications.

Answer: D
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NEW QUESTION 8
Which type of analytics has telemetry that shows the customer’s use of the software and defines what has happened to date?

A. descriptive
B. diagnostic
C. prescriptive
D. predictive

Answer: B

NEW QUESTION 9
A large university has deployed a new IT solution designed to improve the overall student and staff experience. Which approach to measure success is the best?

A. Twice yearly student and staff surveys with two QUESTION NO:s related to IT
B. Measure the number of complaints raised by students
C. Combination of tailored surveys and IT tools-based metrics
D. Implement staff Super Users to provide feedback

Answer: B

NEW QUESTION 10
The customer wants to increase their market share and protect brands reputation. Which two business outcomes are critical to the company’s success? (Choose
two.)

A. risk management
B. credibility
C. business growth
D. cost efficiency
E. sustainability

Answer: CE

NEW QUESTION 10
The Customer Success Manager notices that their customer has delayed going into production. Which action does the Customer Success Manager consider?

A. Suggest that the customer replace their existing staff
B. Provide the customer with a chargeable deployment service
C. Re-enforce the time to value of the solution
D. Give the customer a discount on a future purchase

Answer: C

NEW QUESTION 13
You notice a decline over time in your customer’s usage of your product. Which action do you consider?

A. Tell the customer a new solution will soon be available
B. Carefully tell the customer to get more people to use your product
C. Re-assess the customer’s business process and outline the capability of the solution
D. Show the customer a comparison of the solution versus the competition

Answer: C

NEW QUESTION 16
The customer wants to improve operational expenditure and reduce the C02 footprint of the organization. Which two business outcomes are critical to the
company’s success? (Choose two.)

A. sustainability
B. credibility
C. time to market
D. business growth
E. cost efficiency

Answer: AE

NEW QUESTION 20
Which two results of a successful customer onboarding stage are the most important? (Choose two.)

A. organization chart discussed
B. account relationships identified
C. desired business outcomes discussed
D. stakeholders identified
E. network diagrams discussed

Answer: CD
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NEW QUESTION 21
......
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